6=-129.P10 P8.30p© G=129.P41 P45.30p© G=129.P53 P55.30©
e=-127.P11 PO.28© G=27.P40 P44.28© G=27.P52 P54.28©
G=25.P14 P12.26© G=125.P43 P47.26© G=125.P49 P51.26©
6=23.P15 P13.24© G=123.P42 P46.24© 6=23.P48 P50.24©
6=-121.GND GND.22-© 6=-121.GND GND.22-© 6=-121.GND GND.22-©
G=119.3V3 3V3.20p© 6=119.3V3 3V3.20© 6=119.3V3 3V3.20©
e=-117.A1 AO.18=© e=-117.A6 A5.18© 6=17.A13 A14.18©
G=-115.5V A2.16© G=15.5V A7.16© G=15.5V  A1216©
G=-113.A4 A3.14© e=-113.A9 A8.14© e=113.A11 A10.14p©
e=111.P26 P24.12-© 6=11.P39 P37.12© e=111.P21 P23.12p©
G=9.P27 P25.10© ¢=9.P38 P36.10© 6=9.P20 P22.10p©
G=17.P30 P28.8© G=-17.P35 P33.8© e—=7.P17 P19.8©
G=15.P31 P29.6© 6=15.P34 P32.6© e=-15.P16 P18.6©
6=13.GND GND.4p© 6=13.GND GND.4p© 6=13.GND GND.J4p©
¢=-11.3V3 3V3.2© ¢=-11.3V3 3V3.2© ¢=-11.3V3 3V3.2©

Comp_BlacklceMx_MX1 Comp_BlacklceMx_MX2 Comp_BlacklceMx_MX3

iCircuit will number subcircuits from 1 to N and show as if a DIL chip.
Therefore pin numbers are defined as an element of a pin name.

To make the pin number appear closest to the pin:

the left, uneven numbers start with pin number and

the right, even numbers end with that pin number.

- ANO-AN15 are named AO-A16 so that text wil not overlap when iCircuit lays it out




